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TR b (= b &5 &5 [EV b [V b
X® @8) BN BN BN BN BN BN BN BN BN
xR (58) BN BN BN BN BN BN BN BN BN
okl (BF o) | 1615 1540 1520 1440 1420 1355 1340 1555 1505
%% R q®)) 100 105 105 115 11.0 110 11.0 100 105
N KR q0)) 105 14.0 150 14.0 155 150 150 70 100
218 B (89 |- (89 |BE-M (89 |BE- (89) [#e - (88 (#e - (88) (B - (80 (B - (88 (#Be - (80
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e (m3/9) 0.135 0.189 0445 0918 0.631 0.695 0.529 0002 | 0015
BRE (B >50 >50 >50 >50 >50 >50 >50 >50 15
KEAZVRE 75 76 76 76 76 75 76 76 79
% BEBERE (mg/L) 99 11 10 10 95 91 93 82 10
g BOD (mg/L) 15 4.3 35 36 43 5.7 6.0 85 7.3
IS‘ COD  (mg/L) 30 45 30 39 38 39 41 12 36
SS (mg/LD 1 3 2 1 4 2 1 3 29
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Bkl (BF o) | 1545 1510 1450 1425 14.05 1345 13:30 1520 1445
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KEAZVRE 77 77 .7 76 76 76 76 7.7 a4
% BEERE (mg/L) 95 96 93 92 90 85 84 43 11
g BOD (mg/L) 21 32 24 80 238 34 3.6 43 18
I’S‘ COD  (mg/L) 30 43 32 39 47 38 45 14 35
SS (me/L) 2 3 2 2 4 1 4 11 19
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e (m>/9) 0144 0.152 0.340 0.720 0682 0.565 0377 0.001 0.010
BRE (B >50 >50 >50 >50 >50 >50 >50 30 30
KEAZVRE vl 76 76 7.7 76 76 76 78 80
% BEBRERE (ng/L) 11 10 9.8 98 98 9.2 90 85 10
é BOD (mg/L) 30 4.4 7 76 238 48 6.2 10 19
I’S‘ COD (mg/L) 39 56 4.2 38 438 44 4.6 16 23
SS (me/L) 4 §) 3 4 3 3 2 8 13




